Test from Alex Jonko (LANL), 2024-04-27

NAO: CMIP6 MPI-ESM1-2-LR (rlilplfl) - EOF1 NAO: CMIP6 MPI-ESM1-2-LR (rlilplfl) - EOF2 NAO: CMIP6 MPI-ESM1-2-LR (rlilplfl) - EOF3
1850-2849 JFM 45.7% 1850-2849 JFM 15.1% 1850-2849 JFM 12.0%

H—2 H—2

L -4 L -4

NAO: CMIP6 MPI-ESM1-2-LR (rlilp1fl) - EOF1 NAO: CMIP6 MPI-ESM1-2-LR (rlilp1fl) - EOF2 NAO: CMIP6 MPI-ESM1-2-LR (rlilp1fl) - EOF3
1850-2849 JFM 45.8% 1850-2849 JFM 15.0% 1850-2849 JFM 12.0%

NEW

H—2 H—2

- -4 - -4

Everything worked without errors. The results look the same, although they are not identical (the 3" NAO EOF came out to have a
negative center of activity with my old code and a positive one with the new code version. Patterns look the same though.



